#### **SUNGARD** PUBLIC SECTOR

1000 Business Center Drive Lake Mary, FL 32746 800-727-8088 www.sungardps.com

# **Invoice**

Company LG

**Document No** 129645

Date 29/Nov/2016 Page 1 of 4

Bill To: City of Ft. Lauderdale - OSSI 1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

Ship To:

City of Ft. Lauderdale - OSSI 1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

C	ustomer Grp/No.	Customer Name	Customer PO Number	Currency	Terms	Due Date
1	4368	City of Ft. Lauderdale - OSSI		USD	NET30	29/Dec/2016
Character.	**************************************	ACCOMPANIENCE POR CONTRACTOR CONT	Market Commission of the Commi	CONTRACTOR DESIGNATION OF A SERVICE OF A SER	Constitution of the second control of the se	/

No	SKU Code/Description/Comments	Units	Rate	Extended
Co	ntract No. 130944	in the state of th	Academy of Division	
1	OSSI Additional RMS Workstation License Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	300.00	110.78	33,234.00
<b>2</b>	OSSI Additional RMS Map Display and Pin Mapping License Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	300.00	17.28	5,184.00
3	OSSI Base Mobile Server Software Client Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	20.99	8,186.10
4	OSSI Review Module for Field Reporting Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	17.46	6,809.40
5	OSSI Mobile Client with No CAD Interface Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	44.80	17,472.00
6	OSSI Mobile Client Maps Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	14.47	5,643.30
7	ONESolution MFR Client Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	74.79	29,168.10
8	OSSI - MFR Client - Accident Reporting Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	37.57	14,652.30
9	OSSI Accident Wizard Base Server License Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	4.41	1,719.90
10	OSSI - MFR - Client Arrest Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	22.58	8,806.20
11	OSSI - MFR Client Citation Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	37.57	14,652.30
12	OSSI MFR Client Arrest Affidavit Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	390.00	26.46	10,319.40
13	OSSI Canine Module in MFR Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	26.46	26.46
14	OSSI - MFR Client - MOBLAN Version  Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	30.00	44.10	1,323.00

CAM 16-1583 Exhibit 1 Page 1 of 4

Page Total

157,196.46

### **SUNGARD' PUBLIC SECTOR**

1000 Business Center Drive Lake Mary, FL 32746 800-727-8088 www.sungardps.com

# **Invoice**

Company LG

**Document No** 129645

Date 29/Nov/2016

Page 2 of 4

Bill To: City of Ft. Lauderdale - OSSI 1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

Ship To:

City of Ft. Lauderdale - OSSI 1300 W. Broward Blvd FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

			**************************************	NO CHRONOLOGICA CONTRACENTANCIA CANDICACIONES CANDICACIONES DE CONTRACACIONES DE CON	· · · · · · · · · · · · · · · · · · ·
Customer Grp/No.	Customer Name	Customer PO Number	Currency	Terms	Due Date
1 4368	City of Ft. Lauderdale - OSSI		USD	NET30	29/Dec/2016
			Company by a received of particles by the first of the fi		

No	SKU Code/Description/Comments	Units	Rate	Extended
15	OSSI Police to Citizen Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	2,116.80	2,116.80
Cor	ntract No. 141396	*	32 955 366	ele Angel see
16	OSSI RMS - Fleet Vehicle Maintenance Module Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	1,499.40	1,499.40
Cor	ntract No. 141510			Err Agenda (C. 197
17	OSSI - LAN Client License for Message Switch Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	4.00	16.81	67.24
Cor	ntract No. 150986			
18	OSSI - Applicant Tracking Module Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	901.00	901.00
19	OSSI Base Mobile Server Software Client- Up to 1000 Workstations Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	19.00	19.00
20	OSSI Review Module for Field Reporting- Up to 1000 Workstations Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	16.00	16.00
21	OSSI Mobile Client with No CAD Interface Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	41.00	41.00
22	OSSI Mobile Client Maps Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	13.00	13.00
23	ONESolution MFR Client Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00 mg/mg/mg/mg/mg/mg/mg/mg/mg/mg/mg/mg/mg/m	68.00	68.00
24	OSSI - MFR Client - Accident Reporting Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	34.00	34.00
25	OSSI Accident Wizard Workstation License Client Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	4.00	4.00
26	OSSI - MFR - Client Arrest Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	20.00	20.00
27	OSSI MFR Client Arrest Affidavit Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	24.00	24.00

**Page Total** 

## **SUNGARD**\*PUBLIC SECTOR

1000 Business Center Drive Lake Mary, FL 32746 800-727-8088 www.sungardps.com

# **Invoice**

Company LG

**Document No** 129645

Date 29/Nov/2016 Page 3 of 4

Bill To: City of Ft. Lauderdale - OSSI 1300 W. Broward Blvd FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

Ship To:

City of Ft. Lauderdale - OSSI

1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

				***************************************			
	Customer Grp/No.	Customer Name	Customer PO Number	Currency	Terms	Due Date	
	1 4368	City of Ft. Lauderdale - OSSI		USD	NET30	29/Dec/2016	
						The second secon	

No	SKU Code/Description/Comments	Units	Rate	Extended
28	OSSI - MFR Client Citation Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	34.00	34.00
9	OSSI Additional RMS Workstation License	5.00	100.40	502.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
0	OSSI Additional RMS Map Display and Pin Mapping License Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	5.00	15.60	78.00
1122		AN A	M 69.00	
1	OSSI Base Mobile Server Software Client-Up to 1000 Workstations  Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	1.00	68.00	68.00
2	OSSI Review Module for Field Reporting-Up to 1000 Workstations	1.00	16.00	16.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017	ing the state of t		
3	OSSI Mobile Client with No CAD Interface	1.00	41.00	41.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
4	OSSI Mobile Client Maps	1.00	13.00	13.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017		Field velin the	
5	ONESolution MFR Client	1.00	68.00	68.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
6	OSSI - MFR Client - Accident Reporting	1.00	34.00	34.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
7	OSSI Accident Wizard Workstation License Client	1.00	4.00	4.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
8	OSSI - MFR - Client Arrest	1.00	20.00	20.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
9	OSSI MFR Client Arrest Affidavit	1.00	24.00	24.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
0	OSSI - MFR Client Citation	1.00	34.00	34.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
1	OSSI Canine Module in MFR	10.00	32.00	320.00
	Maintenance Start: 01/Jan/2017, End: 31/Dec/2017			
2	OSSI - MFR Client - MOBLAN Version	30.00	40.00	1,200.00
		CAM 16-1583		and the second of the second second second second

Exhibit 1 Page 3 of 4

### **SUNGARD** PUBLIC SECTOR

1000 Business Center Drive Lake Mary, FL 32746 800-727-8088 www.sungardps.com

## Invoice

Company

**Document No** 

Date

Page

LG

129645

29/Nov/2016

4 of 4

Bill To: City of Ft. Lauderdale - OSSI

1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

Ship To:

City of Ft. Lauderdale - OSSI

1300 W. Broward Blvd

FORT LAUDERDALE, FL 33312

**United States** 

Attn: Craig Richards 954-828-6917

1							
and and and	Customer Grp/No.	Customer Name	Customer PO Number	Currency	Terms	Due Date	
	1 4368	City of Ft. Lauderdale - OSSI		USD	NET30	29/Dec/2016	

SKU Code/Description/Comments No Units Rate **Extended** Maintenance Start: 01/Jan/2017, End: 31/Dec/2017 Page Total 0.00

Remittance: SunGard Public Sector Bank of America

12709 Collection Center Drive

Chicago, IL 60693

Inquiries: Accounts.ReceivableLG@SunGardPS.com

164,475.90 Subtotal 0.00 Sales Tax **Invoice Total** 164,475.90 **Payment Received** 0.00 **Balance Due** 164,475.90